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Choose the appropriate phrase to replace the underlined part -

If you are thinking about investing, isn't make sense to find an experienced

financial advisor?
Options :
4058594851 . 1s it not making

4058594852, doesn't it make

4058594853, does 1t make

4058594854, 1s it making

Question Number : 1 Question Id : 4058591555 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part -

If you are thinking about investing, isn't make sense to find an experienced
financial advisor?

Options :

4058594851 . 1s it not making

4058594852, doesn't it make

4058594853, does 1t make

4058594854, 1s it making

Question Number : 2 Question Id : 4058591556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part -

The old man looked with caution before he crossed the busy street.

Options :

4058594855, cautiously before

4058594856, cautiously when

4058594857, at cautiously when

4058594858. with caution on



Question Number : 2 Question Id : 4058591556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part -

The old man looked with caution before he crossed the busy street.

Options:

4058594855, cautiously before

4058594856, cautiously when

4058594857, at cautiously when

4058594858, with caution on

Question Number : 3 Question Id : 4058591557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part.

The new bank clerk kicked up a row with a senior colleague.
Options :

4058594859. out a

4058594860. on to a

4058594861. off a

4058594862, 1 a



Question Number : 3 Question Id : 4058591557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part.

The new bank clerk kicked up a row with a senior colleague.
Options :

4058594859. out a

4058594860. on to a

4058594861. off a

4058594862 in a

Question Number : 4 Question Id : 4058591558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

NADIR
Options :

4058594863, asylum

4058594864, heaven

4058594865, depth



4058594866. hell

Question Number : 4 Question Id : 4058591558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

NADIR
Options :

4058594863, asylum

4058594864, heaven

4058594865, depth

4058594866. hell

Question Number : 5 Question Id : 4058591559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

ABSTRUSE
Options :

4058594867, dangerous

4058594868. obscure

4058594869, Impracticable



4058594870. irrational

Question Number : 5 Question Id : 4058591559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

ABSTRUSE
Options :

4058594867, dangerous

4058594868. obscure

4058594869, Impracticable

4058594870. wrrational

Question Number : 6 Question Id : 4058591560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :

PARANOID
Options :

4058594871, flattered by

4058594872, nfluenced by



4058594873. obsessed with

4058594874, upset by

Question Number : 6 Question Id : 4058591560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word :
PARANOID

Options :

4058594871, flattered by

4058594872, nfluenced by

4058594873. obsessed with

4058594874, upset by

Question Number : 7 Question Id : 4058591561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :

4058594875. RABBLEROUSER

4058594876. RABLEROUSER



4058594877. RABBELROUSER

4058594878. RABELROUSER

Question Number : 7 Question Id : 4058591561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options:

4058594875. RABBLEROUSER

4058594876. RABLEROUSER

4058594877. FABBELROUSER

4058594878. RABELROUSER

Question Number : 8 Question Id : 4058591562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options:
4058594879, AQUUITAL

4058594880, AQUEITTAL

4058594881. AQUIETTAL



4058594882, ACQUITTAL

Question Number : 8 Question Id : 4058591562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :

Options :

4058594879, AQUUITAL

4058594880, AQUEITTAL

4058594881. AQUIETTAL

4058594882, ACQUITTAL

Question Number : 9 Question Id : 4058591563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :

4058594883. ENOUNCIATION
4058594884, ENUNCIATION

4058594885. ENOUNSIATION

4058594886. ENUNSIASION



Question Number : 9 Question Id : 4058591563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :
4058594883. ENOUNCIATION

4058594884. ENUNCIATION

4058594885. ENOUNSIATION

4058594886. ENUNSIASION

Question Number : 10 Question Id : 4058591564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression

High-flown and pretentious speech.

Options :
4058594887, Vituperative

4058594888. bombastic

4058594889, austere

4058594890. untruthful



Question Number : 10 Question Id : 4058591564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression

High-flown and pretentious speech.

Options :

4058594887, Vituperative

4058594888. bombastic

4058594889. austere

4058594890. untruthful

Question Number : 11 Question Id : 4058591565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :
One who deserts his religion.
Options :

4058594891, deserter

4058594892, apostate

4058594893, Opportunist



4058594894, reticent

Question Number : 11 Question Id : 4058591565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

One who deserts his religion.
Options:

4058594891. deserter

4058594892, apostate

4058594893, opportunist

4058594894, reticent

Question Number : 12 Question Id : 4058591566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

List of matters to be transacted at a meeting.
Options :

4058594895, minutes

4058594896, agenda

4058594897, SXCEIPts



4058594898, proceedings

Question Number : 12 Question Id : 4058591566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :
List of matters to be transacted at a meeting.
Options :

4058594895. minutes

4058594896, agenda

4058594897, €Xcerpts

4058594898, proceedings

Question Number : 13 Question Id : 4058591567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

We saw a wounded tiger while passing the forest,
Options:

4058594899, from

4058594900, through



4058594901, along

4058594902, mong

Question Number : 13 Question Id : 4058591567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

We saw a wounded tiger while passing the forest.
Options:

4058594899, from

4058594900, through

4058594901, along

4058594902, among

Question Number : 14 Question Id : 4058591568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

The temperature falls 4°C in the month of December in Delhi.
Options :

4058594903, from

4058594904, below



4058594905. at

4058594906. mto

Question Number : 14 Question Id : 4058591568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

The temperature falls 4°C in the month of December in Delhi.

Options :

4058594903. from

4058594904. below

4058594905. at

4058594906. mnto

Question Number : 15 Question Id : 4058591569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

Books are very often compared a granary.

Options :

4058594907 and



4058594908. to

4058594909, by

4058594910. at

Question Number : 15 Question Id : 4058591569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

Books are very often compared a granary.

Options :

4058594907. and

4058594908. to

4058594909, by

4058594910. at

Question Number : 16 Question Id : 4058591570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :

'EFFECT'
Options :

4058594911, EDUCE



4058594912, CAUSE

4058594913. SIDLE

4058594914. REDACT

Question Number : 16 Question Id : 4058591570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :

EFEECT!
Options:

4058594911. EDUCE

4058594912, CAUSE

4058594913. SIDLE

4058594914, REDACT

Question Number : 17 Question Id : 4058591571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :
'INSOLENCE'
Options :

4058594915, SERVILITY



4058594916. INSIPIDITY

4058594917. OBOE

4058594918. INFUSE

Question Number : 17 Question Id : 4058591571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :
'INSOLENCE'
Options:

4058594915, SERVILITY

4058594916. INSIPIDITY

4058594917. OBOE

4058594918, INFUSE

Question Number : 18 Question Id : 4058591572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :

PROPULSION'
Options :

4058594919. EXPEL



4058594920. FULMINATE

4058594921, DRIVER

4058594922. TRACTION

Question Number : 18 Question Id : 4058591572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word :

PROPULSION'
Options:

4058594919. EXPEL

4058594920. FULMINATE

4058594921, DRIVER

4058594922. TRACTION

Question Number : 19 Question Id : 4058591573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

'RIPOFF'
Options :

4058594923, MANTLE



4058594924, RITZY

4058594925, ROISTER

4058594926. SWINDLE

Question Number : 19 Question Id : 4058591573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :

'RIPOFF'
Options:

4058594923, MANTLE

4058594924. RITZY

4058594925, ROISTER

4058594926. SWINDLE

Question Number : 20 Question Id : 4058591574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :
'ADMONISH'
Options :

4058594927, SPURN



4058594928. MANIKIN

4058594929. REPROVE

4058594930, QUELL

Question Number : 20 Question Id : 4058591574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :
'ADMONISH'
Options :

4058594927, SPURN

4058594928. MANIKIN

4058594929. REPROVE

4058594930, QUELL

Question Number : 21 Question Id : 4058591575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :
'PASTY"

Options :



4058594931. MOLD

4058594932, ASPHALT

4058594933, PALLID

4058594934. SPOT

Question Number : 21 Question Id : 4058591575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word :
'PASTY"
Options :

4058594931. MOLD

4058594932, ASPHALT

4058594933, PALLID

4058594934. SPOT

Question Number : 22 Question Id : 4058591576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence -

In carly India there has been very little to read except for the books sent from Britain
A B C D




Options :

4058594935. A

4058594936. B

4058594937. C

4058594938. D

Question Number : 22 Question Id : 4058591576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence -

In carly India there has been wvery little to read except for the books sent from Britain
A B C D

Options :

4058594935, A

4058594936. B

4058594937. C

4058594938. D

Question Number : 23 Question Id : 4058591577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Spot the error in the given sentence :

[amnot  hungry beside Idonot like eggs.

A B C D
Options :

4058594939. A

4058594940. B

4058594941. C

4058594942. D

Question Number : 23 Question Id : 4058591577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

[amnot  hungry beside Idonot like eggs.

A B C D
Options:
4058594939. A
4058594940. B

4058594941. C

4058594942. D

Question Number : 24 Question Id : 4058591578 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

Me picked up the books and put it on the table in a heap.

A B & D
Options:

4058594943. A

4058594944. B

4058594945. C

4058594946. D

Question Number : 24 Question Id : 4058591578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

Me picked up the books and put it on the table in a heap.

A B C D

Options :

4058594943, A

4058594944. B

4058594945. C

4058594946. D



Question Number : 25 Question Id : 4058591579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the underlined idiomatic expression :

The famaly's fight for the property was a patriarchal decision that poured oil on
troubled water.

Options :

4058594947, to blame each other

4058594948, to understand the hidden meaning

4058594949, to revive forgotten quarrel

4058594950, to rectify the matter

Question Number : 25 Question Id : 4058591579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the underlined idiomatic expression :

The family's fight for the property was a patriarchal decision that poured oil on
troubled water.

Options :

4058594947, to blame each other

4058594948, to understand the hidden meaning

4058594949, to revive forgotten quarrel



4058594950, to rectify the matter

Question Number : 26 Question Id : 4058591580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option from the following

'"To burn candle at both ends'

Options:

4058594951 . to succeed slowly

4058594952 to work hard continuously

4058594953. to strive hard

4058594954, to spend lavishly

Question Number : 26 Question Id : 4058591580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option from the following

'"To burn candle at both ends'
Options :

4058594951 . to succeed slowly

4058594952 to work hard continuously

4058594953, to strive hard



4058594954, to spend lavishly

Question Number : 27 Question Id : 4058591581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option for the following :

'"To catch a tartar'

Options :

4058594955, to catch a flatterer red - handed

4058594956, to catch someone in a compromising situation

4058594957, to catch a person who 1s more powerful than the catcher

4058594958, to come out of contlict brilliantly

Question Number : 27 Question Id : 4058591581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option for the following :

'"To catch a tartar'

Options :

4058594955, to catch a flatterer red - handed

4058594956, to catch someone in a compromising situation



4058594957, to catch a person who 1s more powerful than the catcher

4058594958, to come out of conflict brilliantly

Question Number : 28 Question Id : 4058591582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word :

1s the most critical stage of life according to some psychologists.

Options :

4058594959, adoloscence

4058594960. adolesence

4058594961, adolescense

4058594962, adolescence

Question Number : 28 Question Id : 4058591582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word :

1s the most critical stage of life according to some psychologists.

Options :

4058594959, adoloscence

4058594960. adolesence



4058594961. adolescense

4058594962. adolescence

Question Number : 29 Question Id : 4058591583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word :

She has some lovely pieces of

Options :

4058594963, Jewllery

4058594964, Jewellery

4058594965, jewelery

4058594966, Jesellerry

Question Number : 29 Question Id : 4058591583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word :

She has some lovely pieces of

Options :

4058594963, Jewllery



4058594964, Jewellery

4058594965, Jewelery

4058594966 Jesellerry

Question Number : 30 Question Id : 4058591584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word

He was as team coach after the defeat

Options :

4058594967, Jetisoned

4058594968, Jetissoned

4058594969, jettisoned

4058594970, Jettissoned

Question Number : 30 Question Id : 4058591584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word

He was as team coach after the defeat

Options :



4058594967, Jetisoned
4058594968. jetissoned
4058594969, Jettisoned

4058594970, Jettissoned
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Question Numbers : (31 to 36)



Question Label : Comprehension

Read the passage and answer to the question that follows:

Somehow. Ramdas Korwa of Rachketha village was not overjoyed to learn that
he was worth Z 17.44 lakh to the government. Late in 1993, the authorities
decided to lay a three ki road leading to Rachketha village m the name of tribal
development by allocating ¥ 17.44 lakh towards the project.

Tribals constitute a 55 per cent majority in Surguja, one of India's poorest
districts. And the Pahadi or Hill Korwas, who have been listed as a primitive
tribe by the government. fall in the bottom 5 per cent. Special efforts are
underway for thewr development which often mvolves large sums of money. Just
one centrally funded scheme. the Pahadi Korwa project. 1s worth 42 crores
over a five-year period.

There are around 15.000 Pahadi Krowas, the largest number of these in Surguja.
However, for political reasons. the mam base of the project is in Raigad district.
There was just one small problem about building the Pahadi Korwa Marg in
Rachketha-the village i1s almost completely devoid of Pahadi Korwas. Ramdas's
family is the only real exception.

"It doesn't matter if these don't benefit the Pahadi Krowas in the least and are
completely useless. Out here, even if you put up a swunming pool and a
bungalow, you do it in the name of tribal development.' says an NGO activist.
"Nobody bothered to check whether there were really any Pahadi Korwas hiving
in Rachketha village' and 'there was already a kutcha road here.' says Ramavatar
Korwa, son of Ramdas. 'They just added lal mitti (red earth) to it. Even today,
after spending ¥ 17.44 lakh. it is not a pucca road.'

Ramdas's own demands are touchingly simple. 'All I want is a little water.' he
says. 'How can we have agriculture without water?' When repeatedly pressed, he
adds: 'Instead of spending Z 17.44 lakh on that road. if they had spent a few
thousand on improving that damaged well on my land. wouldn't that have been
better? Some improvement m the land is also necessary. but let them start by
giving us a little water.'

Ramdas's problems were ignored. The government's problem was "fulfilling a
target.' 'If the money were simply put into bank fixed deposits, none of these
Pahadi Korwa families would ever have to work agam. The interest alone would
make them very well off by Surguja's standards.’ says an official mockingly.

Nobody thought of asking Ramdas what he really needed. what his problems
were, or involving him in their solution. Instead, in his name, they built a road he
does not use, at a cost of ¥ 17.44 lakh. 'Please do something about my water
problem, sir.' says Ramdas Korwa as we set off across the plamn, journeymg two
kilometres to reach his road nowhere.

Sub questions

Question Number : 31 Question Id : 4058591586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Choose the incorrect statement :

Options:

4058594971. Ramdas wanted water 1ssues to be tackled.

4058594972, Pahadi Korwas were minority is Rachktha.

4058594973, Pahadi Korwas project is worth 42 crores over a five-year period

4058594974, Lal mitti was used to make pucca rood. and swimming pool.

Question Number : 32 Question Id : 4058591587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement :

Options :

4058594975, 45% minority villagers were rich in Rachktha.

4058594976, Swimming pool and bungalow were a tribal development project.

4058594977, 2. 17.44 lakhs were spent on pucca road.

4058594978, The government fulfilled its target of tribal development.

Question Number : 33 Question Id : 4058591588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement :



Options :

4058594979, Ramdas Korwa was not overjoyed because he was worth more than 2. 17.44 lakh.

The project of laying three kms road helped 15.000 Pahadi Korwas of Surguja and
4058594980. the local officials of Rachktha.

4058594981, The government would deposit the money as fixed deposit for the villagers.

The village had water problem that was the main issue with the villagers as well as
4058594982, Ramdas.

Question Number : 34 Question Id : 4058591589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to : 'improvement'
Options :

4058594983, ctforts

4058594984, fulfilling

4058594985, development

4058594986, overjoyed

Question Number : 35 Question Id : 4058591590 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Choose the word similar in meaning to :

'Lacking'
Options :

4058594987. scheme

4058594988. devoid

4058594989, bottom

4058594990. little

Question Number : 36 Question Id : 4058591591 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning :

'ignored'
Options:
4058594991. Poorest

4058594992, taken care of

4058594993, Devoid

4058594994, Simple

Question Id : 4058591585 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (31 to 36)

Question Label : Comprehension

Read the passage and answer to the question that follows:

Somehow. Ramdas Korwa of Rachketha village was not overjoyed to learn that
he was worth ¥ 17.44 lakh to the government. Late in 1993, the authoritics
decided to lay a three km road leading to Rachketha village in the name of tribal
development by allocating ¥ 17.44 lakh towards the project.

Tribals constitute a 55 per cent majority in Surguja, one of India's poorest
districts. And the Pahadi or Hill Korwas, who have been listed as a primitive
tribe by the government. fall in the bottom 5 per cent. Special efforts are
underway for their development which often involves large sums of money. Just
one centrally funded scheme. the Pahadi Korwa project. 1s worth 42 crores
over a five-year period.

There are around 15,000 Pahadi Krowas, the largest number of these in Surguja.
However, for political reasons. the mam base of the project 1s in Raigad district.
There was just one small problem about building the Pahadi Korwa Marg in
Rachketha-the village is almost completely devoid of Pahadi Korwas. Ramdas's
family 1s the only real exception.

"It doesn't matter if these don't benefit the Pahadi Krowas m the least and are
completely useless. Out here, even if you put up a swimming pool and a
bungalow, you do it in the name of tribal development.' says an NGO activist.
"Nobody bothered to check whether there were really any Pahadi Korwas hiving
in Rachketha village' and 'there was already a kutcha road here.' says Ramavatar
Korwa. son of Ramdas. 'They just added lal mitti (red earth) to it. Even today,
after spending ¥ 17.44 lakh. it is not a pucca road.'

Ramdas's own demands are touchingly simple. 'All I want is a little water.' he
says. 'How can we have agriculture without water?' When repeatedly pressed, he
adds: 'Instead of spending ¥ 17.44 lakh on that road. if they had spent a few
thousand on improving that damaged well on my land. wouldn't that have been
better? Some improvement m the land is also necessary. but let them start by
giving us a little water.'

Ramdas's problems were ignored. The government's problem was "fulfilling a
target.' 'If the money were simply put into bank fixed deposits. none of these
Pahadi Korwa families would ever have to work again. The interest alone would
make them very well off by Surguja's standards.’ says an official mockingly.

Nobody thought of asking Ramdas what he really needed. what his problems
were, or mvolving him in their solution. Instead, in his name, they built a road he
does not use. at a cost of ¥ 17.44 lakh. 'Please do something about my water
problem, sir.' says Ramdas Korwa as we set off across the plain, journeymmg two
kilometres to reach his road nowhere.

Sub questions

Question Number : 31 Question Id : 4058591586 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the incorrect statement :

Options :

4058594971. Ramdas wanted water 1ssues to be tackled.

4058594972, Pahadi Korwas were minority is Rachktha.

4058594973, Pahadi Korwas project is worth Z 42 crores over a five-year period

4058594974, Lal mitti was used to make pucca rood. and swimming pool.

Question Number : 32 Question Id : 4058591587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement :

Options :

4058594975, 45% minority villagers were rich in Rachktha.

4058594976, Swimming pool and bungalow were a tribal development project.

4058594977, %. 17.44 lakhs were spent on pucca road.

4058594978, The government fulfilled its target of tribal development.

Question Number : 33 Question Id : 4058591588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement :

Options:

4058594979, Ramdas Korwa was not overjoyed because he was worth more than 2. 17.44 lakh.

The project of laying three kms road helped 15.000 Pahadi Korwas of Surguja and
4058594980. the local officials of Rachktha.

4058594981, The government would deposit the money as fixed deposit for the villagers.

The village had water problem that was the main issue with the villagers as well as
4058594982, Ramdas.

Question Number : 34 Question Id : 4058591589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to : 'improvement’
Options :

4058594983, ctforts

4058594984, fulfilling

4058594985, development

4058594986, overjoyed

Question Number : 35 Question Id : 4058591590 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to :

'Lacking'

Options :

4058594987. scheme

4058594988. devoid

4058594989. bottom

4058594990. little

Question Number : 36 Question Id : 4058591591 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning :

'ignored'
Options :
4058594991. Poorest

4058594992, taken care of

4058594993. Devoid

4058594994, Simple

Sub-Section Number : 2

Sub-Section Id : 405859100

Question Shuffling Allowed : No



Is Section Default? : null

Question Id : 4058591592 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (37 to 42)

Question Label : Comprehension

Read the passage and answer to the question that follows:

Under the colonial regime, basic infrastructure such as railways, ports, water
transport. posts and telegraphs did develop. However, the real motive behind this
development was not to provide basic amenities to the people but to subserve
various colonial interests. Roads constructed in India prior to the advent of the
British rule were not fit for modern transport. The roads that were built primarily
served the purposes of mobilising the army within India and drawing out raw
materials from the countryside to the nearest railway station or the port to send
these to far away England or other lucrative foreign destinations. There always
remained an acute shortage of all weather roads to reach out to the rural areas
during the rainy season. Naturally. therefore, people mostly living in these areas
suffered grievously during natural calamities and famines.

The British mtroduced the raillways in India i1 1850 and it 1s considered as one of
their most important contributions. The railways affected the structure of the
Indian economy in two important ways. On the one hand it enabled people to
undertake long distance travel and thereby break geographical and cultural barriers
while. on the other hand. it fostered commercialisation of Indian agriculture which
adversely affected the self-sufficiency of the village economies in India. The
volume of India's exports undoubtedly expanded. but its benefits rarely accrued to
the Indians. The social benefits. which the Indians gamed owing to the
introduction of the railways, were thus outweighed by the country's huge economic
loss.

Along with the development of roads and railways, the colonial dispensation also
took measures for developing the inland trade and sea lanes. However, these
measures were far from satisfactory. The mland waterways. at times. also proved
uneconomical as in the case of the canal on the Odisha coast. Though the canal
was built at a huge cost to the government exchequer. yet. it failed to compete with
the region runming parallel to the canal. and had to be ultimately abandoned. The
introduction of the expensive system of electric telegraph in India. similarly,
served the purpose of maintaining law and order. The postal services. on the other
hand. despite serving a useful public purpose. remained all through inadequate.

Sub questions

Question Number : 37 Question Id : 4058591593 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option :
Options :

Under the colonial regime basic infrastructure were developed to benefit the
4058594995, colonized people.

Under the colomial regime infrastructure was developed to serve the purposes to
4058594996, cxpand colonialism.

Under the colonial regime basic infrastructure to benefit transportation of the
4058594997, goods to boost Indian economy.

Under the colonial regime, basic infrastructure was built to facilitate trade and
4058594998, commerce in India.

Question Number : 38 Question Id : 4058591594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the purpose of railways in British India :
Options :

4058594999, to transport people during rainy seasomn.

4058595000, o transport goods to the mteriors during famine.

4058595001. to boost the economic structure of India.

4058595002, to exploit Indians and expand British regime.

Question Number : 39 Question Id : 4058591595 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The colonial project was centered on :
Options :

4058595003, People. economy and culture

4058595004, roads. railways and posts

4058595005, Vehicles. flights and posts

4058595006, People. economy. culture. roads. railways and posts

Question Number : 40 Question Id : 4058591596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following served the dual purpose of maintaining law and order :
Options :

4058595007, canal and government exchequer

4058595008, clectric telegraph

4058595009. Postal services

4058595010, Roads and Railways

Question Number : 41 Question Id : 4058591597 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Which of the following adversely affected the village economies in India
Options :

405859501 1. railways and commercialisation of agriculture in India.

405859501 2. shortage of all weather roads.

405859501 3, roads unfit for modern transports.

405859501 4. the nadequate postal services.

Question Number : 42 Question Id : 4058591598 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was the most under developed in British India ?
Options :

4058595015, Roads and Railways

4058595016, Posts and Telegraphs

4058595017, Water transport and Electric telegraph

4058595018, Ports and Water transport

Question Id : 4058591592 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (37 to 42)



Question Label : Comprehension

Read the passage and answer to the question that follows:

Under the colonial regime, basic infrastructure such as railways. ports, water
transport. posts and telegraphs did develop. However, the real motive behind this
development was not to provide basic amenities to the people but to subserve
various colomal interests. Roads constructed in India prior to the advent of the
British rule were not fit for modern transport. The roads that were built primarily
served the purposes of mobilising the army within India and drawing out raw
materials from the countryside to the nearest raillway station or the port to send
these to far away England or other lucrative foreign destinations. There always
remained an acute shortage of all weather roads to reach out to the rural areas
during the rainy season. Naturally, therefore, people mostly living in these areas
suffered grievously during natural calamities and famines.

The British mtroduced the raillways in India n 1850 and 1t 1s considered as one of
their most important contributions. The railways affected the structure of the
Indian economy in two important ways. On the one hand it enabled people to
undertake long distance travel and thereby break geographical and cultural barriers
while. on the other hand. it fostered commercialisation of Indian agriculture which
adversely affected the self-sufficiency of the village economies in India. The
volume of India's exports undoubtedly expanded. but its benefits rarely accrued to
the Indians. The social benefits. which the Indians gained owing to the
introduction of the railways, were thus outweighed by the country's huge economic
loss.

Along with the development of roads and railways. the colonial dispensation also
took measures for developing the inland trade and sea lanes. However, these
measures were far from satisfactory. The mland waterways. at times. also proved
uneconomical as in the case of the canal on the Odisha coast. Though the canal
was built at a huge cost to the government exchequer. yet. it failed to compete with
the region running parallel to the canal. and had to be ultimately abandoned. The
introduction of the expensive system of electric telegraph n India. similarly.
served the purpose of maintaiming law and order. The postal services. on the other
hand. despite serving a useful public purpose., remained all through inadequate.

Sub questions

Question Number : 37 Question Id : 4058591593 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option :
Options :

Under the colonial regime basic infrastructure were developed to benefit the
4058594995, colonized people.



Under the colomial regime infrastructure was developed to serve the purposes to
4058594996, cxpand colonialism.

Under the colonial regime basic infrastructure to benefit transportation of the
4058594997, goods to boost Indian economy.

Under the colonial regime, basic infrastructure was built to facilitate trade and
4058594998, commerce in India.

Question Number : 38 Question Id : 4058591594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the purpose of railways in British India :
Options :

4058594999, to transport people during rainy season.

4058595000, to transport goods to the interiors during famine.

4058595001. to boost the economic structure of India.

4058595002, to exploit Indians and expand British regime.

Question Number : 39 Question Id : 4058591595 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The colonial project was centered on :
Options :

4058595003, People. economy and culture



4058595004, roads. railways and posts

4058595005, Vehicles. flights and posts

4058595006, People. economy. culture. roads. railways and posts

Question Number : 40 Question Id : 4058591596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following served the dual purpose of maintaining law and order :
Options :

4058595007, canal and government exchequer

4058595008, clectric telegraph

4058595009. Postal services

4058595010, Roads and Railways

Question Number : 41 Question Id : 4058591597 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following adversely affected the village economies in India :
Options :

405859501 1. raillways and commercialisation of agriculture m India.



405859501 2. shortage of all weather roads.

4058595013, roads unfit for modern transports.

405859501 4. the inadequate postal services.

Question Number : 42 Question Id : 4058591598 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was the most under developed in British India ?
Options :

4058595015, Roads and Railways

4058595016, Posts and Telegraphs

4058595017, Water transport and Electric telegraph

4058595018, Ports and Water transport

Sub-Section Number : 3
Sub-Section Id : 405859101
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058591599 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 48)



Question Label : Comprehension

Read the passage and answer to the question that follows:

Chola temples often became the nuclei of settlements which grew around them.
These were centers of craft production. Temples were also endowed with land by
rulers as well as by others. The produce of this land went into maintaining all the
specialists who worked at the temple and very often lived near 1t - priests. garland
makers. cooks. sweepers. musicians, dancers. ete. In other words, temples were not
only places of worship: they were the centers of economic. social and cultural life.

Amongst the crafts associated with temples. the making of bronze images was the
most distinetive.Chola bronze images are considered amongst the finest in the
world. While most images were of deities. sometimes images were made of
devotees as well.

Sub questions

Question Number : 43 Question Id : 4058591600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

were the centres of craft production.

Options:

4058595019, Temples with land

4058595020. Nuclei

4058595021. Settlements

4058595022, Chola temples

Question Number : 44 Question Id : 4058591601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The priests and the other specialists were maintained by -

Options :



4058595023, the endowments by the rulers

4058595024, the income from the crops grown on the temples land

4058595025, the crafts produced in temple's

4058595026, Mmaking of bronze statues

Question Number : 45 Question Id : 4058591602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The importance of Chola temples 1s best desceribed by the statement:
Options :

4058595027, These were centres of craft production and nuclei of settlements.

4058595028, These were endowed with land by rulers and were places of worship

4058595029, All the specialists who worked at the temple lived near it.

These were places of worship as well as centers of economie. social and cultural
4058595030. life.

Question Number : 46 Question Id : 4058591603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Substitute one word for the underlined group of words -

There were many gods and goddesses in the inner sanctum of the temple




Options :

4058595031, specialists

4058595032, lmages

4058595033. deities

4058595034, devotees

Question Number : 47 Question Id : 4058591604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
School : Student : Temple :

Options :

4058595035. Priest

4058595036, SWeeper

4058595037 Deity

4058595038. Devotee

Question Number : 48 Question Id : 4058591605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given phrase -

"Cash or kind given to a school. a college or another institution to provide it with
an income.”.



Options :

4058595039. settlement

4058595040. endowment

4058595041, produce

4058595042. distinctions

Question Id : 4058591599 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (43 to 48)

Question Label : Comprehension

Read the passage and answer to the question that follows:

Chola temples often became the nuclei of settlements which grew around them.
These were centers of craft production. Temples were also endowed with land by
rulers as well as by others. The produce of this land went into maintaining all the
specialists who worked at the temple and very often lived near it - priests. garland
makers. cooks. sweepers. musicians. dancers. etc. In other words. temples were not
only places of worship: they were the centers of economic. social and cultural life.

Amongst the crafts associated with temples. the making of bronze images was the
most distinetive.Chola bronze images are considered amongst the finest in the
world. While most images were of deitics. sometimes images were made of
devotees as well.

Sub questions

Question Number : 43 Question Id : 4058591600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

were the centres of craft production.

Options :



4058595019, Temples with land

4058595020. Nuclei

4058595021. Settlements

4058595022, Chola temples

Question Number : 44 Question Id : 4058591601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The priests and the other specialists were maintained by -
Options :

4058595023, the endowments by the rulers

4058595024, the income from the crops grown on the temples land

4058595025, the crafts produced in temple's

4058595026, Mmaking of bronze statues

Question Number : 45 Question Id : 4058591602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The importance of Chola temples 1s best described by the statement:
Options :

4058595027, These were centres of craft production and nuclei of settlements.



4058595028, These were endowed with land by rulers and were places of worship

4058595029, All the specialists who worked at the temple lived near it.

These were places of worship as well as centers of economic. social and cultural
4058595030. life.

Question Number : 46 Question Id : 4058591603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Substitute one word for the underlined group of words -

There were many gods and goddesses in the inner sanctum of the temple

Options :

405859503 1. specialists

4058595032, lmages

4058595033. deities

4058595034, devotees

Question Number : 47 Question Id : 4058591604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
School : Student : Temple :

Options:

4058595035. Priest



4058595036, Sweeper

4058595037, Deity

4058595038. Devotee

Question Number : 48 Question Id : 4058591605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given phrase -

"Cash or kind given to a school. a college or another institution to provide it with
an income.".

Options:
4058595039. settlement

4058595040. endowment

4058595041, produce

4058595042. distinctions

Sub-Section Number : 4
Sub-Section Id : 405859102
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058591606 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (49 to 54)

Question Label : Comprehension

Read the passage and answer to the question that follows:
Box 5.5 : Organically Produced Cotton in Maharashtra

In 1955, when Kisan Mehta of Prakruti (an NGO) first suggested that cotton. the
biggest user of chemical pesticides. could be grown organically. the then Director
of the Central Institute for Cotton Research. Nagpur, famously remarked. "Do you
want India to go naked?" At present. as many as 130 farmers have committed
1.200 hectares of land to grow cotton organically on the International Federation of
Organic Agriculture Movement's standards. The produce was later tested by the
German Accredited Agency. AGRECO. and found to be of high quality. Kisan
Mehta feels that about 78 per cent of Indian farmers are marginal farmers owning
about less than 0.8 hectare but accounting for 20 per cent of India's cultivable land.
For such farmers. organic agriculture is more profitable in terms of money and soil
conservation in the long run.

Sub questions

Question Number : 49 Question Id : 4058591607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement :

Options :

4058595043, Cotton uses a largest amount of water

4058595044, Cotton is the largest user of pesticides.

4058595045, Cotton can be grown organically too

4058595046, Cotton was grown artificially by many farmers over 1200 hectares of land.

Question Number : 50 Question Id : 4058591608 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to :

'known by many people’
Options :

4058595047. committed

4058595048. famous

4058595049, marginal

4058595050. associated

Question Number : 51 Question Id : 4058591609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to :

'officially recognized as something’
Options :

4058595051, tederation

4058595052, standards

4058595053, profitable

4058595054, accredited

Question Number : 52 Question Id : 4058591610 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the incorrect statement :

Options :

Currently. 130 farmers have decided to grow cotton organically over 1200 hectares
4058595055. of land.

4058595056, 1he cotton grown organically was of high quality.

22% of India farmers account for over 60% of India's cultivable land. as per
4058595057. Prakrut.

4058595058, Organic agriculture is profitable for farmers.

Question Number : 53 Question Id : 4058591611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement :

Options :

4058595059, /8% of Indian farmers are marginal farmers, as per AGRECO.

4058595060, 22% of India farmers are rich according to Central Institute of Cotton Research.

4058595061, AGRECO 1s a farming body

4058595062, Organic farming helps in soil conservation.

Question Number : 54 Question Id : 4058591612 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word apposite in meaning to :

"Wot consisting of or coming from any living substance’
Options :

4058595063. Chemical

4058595064. Pesticides

4058595065, Organic

4058595066, Agriculture

Question Id : 4058591606 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (49 to 54)

Question Label : Comprehension

Read the passage and answer to the question that follows:
Box 5.5 : Organically Produced Cotton in Maharashtra

In 1955, when Kisan Mehta of Prakruti (an NGO) first suggested that cotton. the
biggest user of chemical pesticides. could be grown organically. the then Director
of the Central Institute for Cotton Research. Nagpur, famously remarked. "Do you
want India to go naked?" At present. as many as 130 farmers have committed
1.200 hectares of land to grow cotton organically on the International Federation of
Organic Agriculture Movement's standards. The produce was later tested by the
German Accredited Agency. AGRECO. and found to be of high quality. Kisan
Mehta feels that about 78 per cent of Indian farmers are marginal farmers owning
about less than 0.8 hectare but accounting for 20 per cent of India's cultivable land.
For such farmers. organic agriculture is more profitable in terms of money and soil
conservation in the long run.

Sub questions



Question Number : 49 Question Id : 4058591607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement :

Options :

4058595043, Cotton uses a largest amount of water

4058595044, Cotton is the largest user of pesticides.

4058595045, Cotton can be grown organically too

4058595046, Cotton was grown artificially by many farmers over 1200 hectares of land.

Question Number : 50 Question Id : 4058591608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to :

'known by many people’
Options :

4058595047. committed

4058595048. famous

4058595049, marginal

4058595050. associated



Question Number : 51 Question Id : 4058591609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to :

'officially recognized as something'
Options :

4058595051. federation

4058595052, standards

4058595053, profitable

4058595054, accredited

Question Number : 52 Question Id : 4058591610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the mcorrect statement :

Options :

Currently. 130 farmers have decided to grow cotton organically over 1200 hectares
4058595055. of land.

4058595056, Lhe cotton grown organically was of high quality.

22% of India farmers account for over 60% of India's cultivable land. as per
4058595057. Prakruti.

4058595058, Organic agriculture is profitable for farmers.



Question Number : 53 Question Id : 4058591611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement :

Options:

4058595059, 78% of Indian farmers are marginal farmers, as per AGRECO.

4058595060, 22%0 of India farmers are rich according to Central Institute of Cotton Research.

4058595061, AGRECO 1s a farming body

4058595062, Organic farming helps in soil conservation.

Question Number : 54 Question Id : 4058591612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word apposite in meaning to :

"WNot consisting of or coming from any living substance’
Options :

4058595063. Chemical

4058595064. Pesticides

4058595065, Organic

4058595066, Agriculture



Sub-Section Number : 5

Sub-Section Id : 405859103
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 4058591613 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (55 to 60)

Question Label : Comprehension

Read the passage and answer the following questions

Organic agriculture offers a means to substitute costher agricultural mputs (such as
HYV seeds. chemical fertilisers, pesticides etc.) with locally produced organic
inputs that are cheaper and thereby generate good returns on investment. Organic
agriculture also generates income through exports as the demand for organically
gTOWI Crops 18 on a rise. Studies across countries have shown that organically
grown food has more nutritional value than chemical farming thus providing us
with healthy foods. Since organie farming requires more labour input than
conventional farming, India will find organic farming an attractive proposition.
Finally. the produce 1s pesticide-free and produced in an environmentally
sustainable way.

Popularising organic farming requires awareness and willingness on the part of
tarmers to adapt to new technology. Inadequate infrastructure and the problem of
marketing the products are major concerns which need to be addressed apart from
an appropriate agriculture policy to promote organic farming. It has been observed
that the yields from organic farming are less than modern agricultural farming in
the initial years. Therefore. small and marginal farmers may find it difficult to
adapt to large-scale production. Organic produce may also have more blemishes
and a shorter shelf life than sprayed produce. Moreover choice 1 production of
off-season crops 18 quite limited in organic farming. Nevertheless. organic farming
helps in sustainable development of agriculture and India has a clear advantage in
producing organic products for both domestic and international markets. Do you
think food and non-food items cultivated using organic farming methods will be
cheaper?

Sub questions

Question Number : 55 Question Id : 4058591614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a disadvantage of organic farming ?
Options :

4058595067, Organic farming yields lesser crops compared to modern agricultural farming.

4058595068, Organic farming generates marginal returns on mvestement.

4058595069, Organic farming requires more labour mput than conventional farming.

4058595070, Organic farming produces are blemished with shorter shelf life

Question Number : 56 Question Id : 4058591615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word from the option that means :

'Small and not important’
Options:

4058595071. labour

4058595072, nadequate

4058595073, marginal

4058595074, domestic

Question Number : 57 Question Id : 4058591616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Identify the word that means :

"mvolving the use of natural products and energy in a way that does not harm the
environment."

Options :

4058595075. Sustainable

4058595076, Organic

4058595077. Nutritional

4058595078, Locally

Question Number : 58 Question Id : 4058591617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Small and marginal farmers find it difficult to adapt large-scale production because

Options :

4058595079, they do not use HY'V seeds.

4058595080, they do not use modern technology.

4058595081, the yield 1s limited in the imtial years.

4058595082, Organic produce has blemishes and shorter shelf life.

Question Number : 59 Question Id : 4058591618 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true :
Options :

4058595083, Organic farming is free from agricultural policy.

4058595084, Organic farming products have shorter shelf life.

4058595085, Organic farming is inexpensive.

4058595086, Organic farming 1s free from marketing problems.

Question Number : 60 Question Id : 4058591619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements 1s false :

Options :

4058595087, Organic agriculture uses locally produced mputs.

4058595088, Organic agriculture is technology free.

4058595089, Organic agriculture generates mcome.

4058595090, Organic food is more nutritious than chemically farmed foods.

Question Id : 4058591613 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Question Numbers : (55 to 60)

Question Label : Comprehension

Read the passage and answer the following questions :

Organic agriculture offers a means to substitute costlier agricultural inputs (such as
HYV seeds. chemical fertilisers, pesticides etc.) with locally produced organic
inputs that are cheaper and thereby generate good returns on investment. Organic
agriculture also generates income through exports as the demand for organically
grown crops 1s on a rise. Studies across countries have shown that organically
grown food has more nutritional value than chemical farming thus providing us
with healthy foods. Since organic farming requires more labour input than
conventional farming. India will find organic farming an attractive proposition.
Finally. the produce 1s pesticide-free and produced in an environmentally
sustainable way.

Popularising organic farming requires awareness and willingness on the part of
tarmers to adapt to new technology. Inadequate infrastructure and the problem of
marketing the products are major concerns which need to be addressed apart from
an appropriate agriculture policy to promote organic farming. It has been observed
that the yields from organic farming are less than modern agricultural farming in
the initial years. Therefore. small and marginal farmers may find it difficult to
adapt to large-scale production. Organic produce may also have more blemishes
and a shorter shelf life than sprayed produce. Moreover choice in production of
off-season crops 1s quite limited m organic farming. Nevertheless, organic farming
helps in sustainable development of agriculture and India has a clear advantage in
producing organic products for both domestic and international markets. Do you
think food and non-food items cultivated using organic farming methods will be
cheaper?

Sub questions

Question Number : 55 Question Id : 4058591614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following 1s not a disadvantage of organic farming ?
Options :
4058595067, Organic farming yields lesser crops compared to modern agricultural farming.

4058595068, Organic farming generates marginal returns on investement.

4058595069, Organic farming requires more labour mput than conventional farming.



4058595070, Organic farming produces are blemished with shorter shelf life

Question Number : 56 Question Id : 4058591615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word from the option that means :

'Small and not important’

Options :

4058595071. labour

4058595072. inaclequate

4058595073, marginal

4058595074, domestic

Question Number : 57 Question Id : 4058591616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the word that means :

"mvolving the use of natural products and energy in a way that does not harm the
environment."

Options :

4058595075. Sustainable

4058595076, Organic



4058595077. Nutritional

4058595078, Locally

Question Number : 58 Question Id : 4058591617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Small and marginal farmers find it difficult to adapt large-scale production because
Options :

40585950709. they do not use HY'V seeds.

4058595080, they do not use modern technology.

4058595081 . the yield 1s limited in the mmtial years.

4058595082, Organic produce has blemishes and shorter shelf life.

Question Number : 59 Question Id : 4058591618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements 1s true :
Options :

4058595083, Organic farming 1s free from agricultural policy.

4058595084, Organic farming products have shorter shelf life.



4058595085, Organic farming 1s mexpensive.

4058595086, Organic farming is free from marketing problems.

Question Number : 60 Question Id : 4058591619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements 1s false :

Options:

4058595087, Organic agriculture uses locally produced mputs.
4058595088, Organic agriculture is technology free.

4058595089, Organic agriculture generates income.

4058595090, Organic food 1s more nutritious than chemically farmed foods.
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Question Number : 61 Question Id : 4058591620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Ajay buys an article with 20% discount on the marked price and sells at 8%
discount on the marked price. What 1s his profit or loss percentage (%)7

Options :

4058595091, 12% profit
4058595092, 12% loss

4058595093. 15% loss

4058595094, 15% profit

Question Number : 61 Question Id : 4058591620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

3oy Tl o 1 Sifdha Hed ¥ 20% g5 W 9 Dl & 3R Sifdhd o U 8%
92 I o =l & d SUD! g1 a1 a1y Hfrad 71 62

Options :

4058595091. 12% ¢ITH



4058595092, 12% © A

4058595093, 15% © A

4058595094. 15% ¢IH

Question Number : 62 Question Id : 4058591621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A sum becomes ¥ 720 after 2 years and ¥ 1020 after 7 years at simple interest. The
rate of interest per annum 1s :

Options :

4058595095. 10%
4058595096. 9%
4058595097. 8%

4058595098. 11%

Question Number : 62 Question Id : 4058591621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TS YARIIRT WIYRUT &76] UR 2 G & 94T 2 720 3R 7 a9 b YT 2 1020 81
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Options:

4058595095. 10%



4058595096. 9%
4058595097. 8%

4058595098. 11%

Question Number : 63 Question Id : 4058591622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A and B divided a sum of 7 §4.000 1n the ratio 4:3 If ¥ X 15 added to each of their
shares. the ratio becomes 5:4. then the value of X 1s

Options :

4058595099, 10.000
4058595100, 12.000
4058595101, 11.000

4058595102, 10.500

Question Number : 63 Question Id : 4058591622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

ATUTB 84,000 DI AR B 4:3 P UG § fquiiord foar 1 afg SAHI &
U o [gel & 2 X IS Sl & al 3[4Td 5:4 Pl 5l ol o | X &1 T 5:

Options :

4058595099, 10.000



4058595100, 12.000
4058595101, 11.000

4058595102, 10.500

Question Number : 64 Question Id : 4058591623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If l = 0.45, then the value of

]

3yv—-x 6 .
- > il | 5
Ip+x 23

Options :

4058595103. 0.85
4058595104. 1.0
4058595105. 1.95

4058595106. 2.05

Question Number : 64 Question Id : 4058591623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

afg = =045,

1
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Options :

4058595103. 0.85

4058595104. 1.0

4058595105. 1.95

4058595106. 2.05

Question Number : 65 Question Id : 4058591624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A and B started a business in partnership by investing T 20.000 and 2 15.000.
respectively. After 6 months, C joined them with Z 20.000. What 1s the share of B
in the total profit of ¥ 33.000 earned at the end of 2 years from the starting of the
business?

Options:

4058595107, < 11.000

4058595108, < 9.600

4058595109, < 9.900

4058595110, < 10.000

Question Number : 65 Question Id : 4058591624 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058595107, < 11.000
4058595108, < 9.600
4058595109,  9.900

4058595110. T 10.000

Question Number : 66 Question Id : 4058591625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A dog takes 4 leaps for every 7 leaps of a cat but 4 leaps of a dog are equal to the 6
leaps of the cat. The ratio of speeds of dog and cat 1s :

Options :
4058595111. 16:15
4058595112. 5:7

4058595113. 6:7

4058595114. 8:5

Question Number : 66 Question Id : 4058591625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

US o, faewdl & 83 7 Taifll & (AU 4 IR SN 1 8. Wb Pl Bl 4
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Options :

4058595111. 16:15

]
-1

4058595112, 3:

4058595113. 6:7

Ln

4058595114. 8.

Question Number : 67 Question Id : 4058591626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The sum of three numbers 15 1600. The second number and the third number are in
the ratio 11:18. While the first number and the third number are in the ratio 1:6.
The second number 15

Options:

4058595115. 500

4058595116. 850

L
=

4058595117. 5

4058595118, 880

Question Number : 67 Question Id : 4058591626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058595115, 500

4058595116. 850

L
=

4058595117. 5

4058595118. 880

Question Number : 68 Question Id : 4058591627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What number should be added to the terms of 3:7 to make the ratio 2:37

Options :

4058595119. 3

4058595120. 4

LR

4058595121.

4058595122. &

Question Number : 68 Question Id : 4058591627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



3:7 & UGI H HH-HT &A1 91 [ SUTd 2:3 §1 WU 2
Options :

4058595119. 3

4058595120. 4

L

4058595121.

4058595122. 6

Question Number : 69 Question Id : 4058591628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

There are two sections A and B of a class, consisting of 36 and 44 students.
respectively. If the average weight of students of section A 1s 44 kg and those of
section B 1s 39 kg. then the average weight of students of both the sections (in kg)
18

Options :
4058595123, 41.5
4058595124. 41.25

4058595125. 40.75

4058595126. 40.25

Question Number : 69 Question Id : 4058591628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



ferdt e B 31 Yo A 3R B © o8 P 36 TUT 44 faendf € | afe Jawm
A Tqeniefal &1 3fga aur 44 1. 1. quT Ya== B & faenfifal & aigd
gor 39 5.1, B, @ a1 Sav! & faenfifal &1 sigd aoq ([ ) 5 -

Options :

4058595123, 41.5
4058595124, 41.25
4058595125, 40.75

4058595126. 40.25

Question Number : 70 Question Id : 4058591629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The milk and water in a nuxture are in the ratio 7:5. When 15 litres of water 1s
added to it. the ratio of milk and water in the new mixture becomes 7:8. The total
quantity of water in the new mixture 1s

Options:
4058595127. 30 litres
4058595128. 60 litres

4058595129. 48 litres

4058595130. 40 litres

Question Number : 70 Question Id : 4058591629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

U 001 & g8 SR 91 &1 3UId 7:5 8 | /4 598 15 diex g e S
?a“f%uﬁr%rmﬁga 3R T BT AT 7:8 BT a1 € | T8 Ao & ot 6t
g

Options:

4058595127, 30 T3

4058595128, 60 THe3

4058595129, 48 T

4058595130, 40 TR

Question Number : 71 Question Id : 4058591630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A. B and C are three partners. They all together invested T 42.000 in a business. At
the end of the year, A received ¥ 377.50. B ¥ 1085 and C % 637.50 as profit. The
difference between the investments of B and C 18

Options :
4058595131, % 8.950
4058595132, ¥ 671.25

4058595133, % 895

4058595134, Z 1118.75

Question Number : 71 Question Id : 4058591630 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A. B TUI C I IIEIGR §1 I Ma® $d 2 42,000 B Yoil AAR ¥ a9
@I | ADI2377.50,BZ1085 AR CPI2637.50 MU B IU L WA Y | B AUl
C & dR &7 SR Fa1s |

Options :

4058595131, % 8.950

4058595132, T 671.25

4058595133. Z 895

4058595134, Z 1118.75

Question Number : 72 Question Id : 4058591631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

After allowing a discount of 12% on the marked price, a shopkeeper still gains
21%. How much (in percentage) 1s the marked price above the cost price?

Options:
4058595135. 9%
4058595136. 37.5%

4058595137. 33%

4058595138. 16.5%



Question Number : 72 Question Id : 4058591631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

U GDHTIGR 3ffdhd el TR 12% Sg DI Al 34 & ugrd i 21% PACIE |
AT Tl ¥ a1 S U (Widd B) sifdhd 4ed 8 °

Options :

4058595135. 9%

4058595136. 37.5%

4058595137. 33%

4058595138. 16.5%

Question Number : 73 Question Id : 4058591632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The average of the following numbers

132, 148,156,126, 112,136, 18
Options :

4058595139, 810

4058595140. 405

4058595141. 135

4058595142. 125



Question Number : 73 Question Id : 4058591632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Frafead g=araii

132. 148, 156. 126. 112, 136 B 3 Td TF 5
Options :

4058595139. 810

4058595140. 405

4058595141. 135

4058595142. 125

Question Number : 74 Question Id : 4058591633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

45 men can complete a work in 16 days. After working for some days. 30 more
men joined the work. As a result work now finished in 6 days. How many days
after the commencement of the work. did the 30 persons join?

Options :
4058595143. 6
4058595144, 10

4058595145, 12

4058595146. 8



Question Number : 74 Question Id : 4058591633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

forelt &1 BT 45 SgHl 16 &I T W PR FDd & | T i B B & 918 30
3R e BTE H TS & o Bavasy B 3@ 6 fa=1 91517 | S
PeH P fbdfcip I 0TI AT U2

Options:

4058595143. 6

4058595144 10

4058595145. 12

4058595146. &

Question Number : 75 Question Id : 4058591634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sells an item with a loss of 5%. If he had sold it for ¥ 120 more, he
would have gained 15%. Find the cost price of the item.

Options :
4058595147, 2 550
4058595148. % 600

4058595149. ¥ 580

4058595150. ¥ 520



Question Number : 75 Question Id : 4058591634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U GDHIFGR bl o Bl [dshd 5% BIH R SRl 5| Ife a8 39 2 120 T
e OR 951 a1 3 15% bl 1Y UK ldT | 9% b1 aRTd Jed J1d Difed |

Options:

4058595147. Z 550
4058595148. 600
4058595149. ¥ 580

4058595150. ¥ 520

Question Number : 76 Question Id : 4058591635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If the numerator of a rational number is decreased by 20% and the denominator 1s

. = 1 : s
increased by 150%, the resultant number becomes —. What is the original number

ke
o

Options :

| wn

4058595151, 4

4058595152. 5

16
4058595153. 25



25
4058595154. 16

Question Number : 76 Question Id : 4058591635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
gl U UREY T & 3 DI 20% HY PR [GAT ST AU TR Y 150% DI IS
Waﬁmﬁqﬁmﬁmé CERCINIG R R eE e

Options :

| wn

4058595151, 4

4058595152. 5

16
4058595153. 25

-5
e

4058595154. 16

Question Number : 77 Question Id : 4058591636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A man borrowed % 500 at the rate of 3% p.a. and % 600 (@ 4.5% p.a. on simple
interest, with an agreement that the whole sum will be returned only if the total
sum becomes I 1520. The number of years, after which the borrowed sum 1s to be
returned 1s :

Options :



4058595155. 5
4058595156. 7
4058595157. 10

4058595158. 12

Question Number : 77 Question Id : 4058591636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U oA A 3% Hid a9 BT 2 500 AR 4.5% Wid IY BT <R F 2 600 YR

ST R 9 ¥4 R IYR oY o gl 1% ot aut derd St 5ie o

ﬁglsmﬁa@ﬂlaﬁaﬂﬂ'@ﬂ.mwam?ﬂﬁﬁﬁﬂaﬁ
&

Options :

¥

4058595155, 5

4058595156. 7

4058595157. 10

4058595158. 12

Question Number : 78 Question Id : 4058591637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The greatest number of 5 digits which when divided by 4. 5. 6. 7 and 8 leaves 1. 2.
3.4 and 5. respectively as remainders. 1s



Options :

4058595159. 99313

4058595160. 99117

4058595161, 99691

4058595162, 99957

Question Number : 78 Question Id : 4058591637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

5 3@ P HHIH TG B 9 4. 5. 6. 7 YT 8 § fquiford fearwmar g a
Y9G HHY: 1.2.3.4TYT599dl 6 | 98 9T 6 -

Options :

4058595159. 99313
4058595160. 99117
4058595161. 99691

4058595162, 99957

Question Number : 79 Question Id : 4058591638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

1 1
= 0.138, then the value of

If T = EEEe s — e 35
7.247 0.0007247




Options :

4058595163. 10.38
4058595164, 138
4058595165. 1380

4058595166. 13.80

Question Number : 79 Question Id : 4058591638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

1 1 =
ofe —0138.dl—— HIO-G:
7.247 0.0007247 3

Options:

4058595163. 10.38

4058595164. 138

4058595165. 1380

4058595166. 13.80

Question Number : 80 Question Id : 4058591639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The value of 018 is equal to :

Options :



4058595167. 11

4058595168. 33

4058595169. 99

4058595170. 33

Question Number : 80 Question Id : 4058591639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

0.18 T A {5 ad 9AM § 2

Options :

4058595167. 11

4058595168. 33

4058595169. 99

4058595170. 33

Analytical & Logical Ability
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Question Number : 81 Question Id : 4058591640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

P » Q means P 1s the mother of Q. P (@ Q means P is son of Q, P # Q means P is
the daughter of Q. P § Q means P 1s the brother of Q. P % Q means P 1s the father
of Q.

IfH$T#P xG @M %F %R, How is F related to H?
Options:

4058595171. Son

4058595172. Brother

4058595173. Father's brother

4058595174. Brother's son



Question Number : 81 Question Id : 4058591640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

PxQFUPQBIHCP@QPIAUTL. QIHTICI . P2 Q@I 31 P QI
438 PSQBIYCP QBT UG 6. P% QHI Y P, Q HI AT B

TS HST4P*G@M%F%R.EAEHI U IPRIERGg?
Options :

4058595171, §el

4058595172.1W§

4058595173, T9d1 &1 s

4058595174, HTS DI Sel

Question Number : 82 Question Id : 4058591641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A cube 1s painted yellow on two adjacent faces. blue on the two faces opposite to
the yellow faces and Black on the remaining faces. It 1s then cut into 216 smaller
cubes of equal size.

How many cubes are painted on all faces?
Options :

4058595175. 36

4058595176. 25



4058595177. 20

4058595178. 0

Question Number : 82 Question Id : 4058591641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

gfg fodt 99 & o il Bas] o dien & fear man 8, Ui o & 91 &
3l Hd®! DI Adl 3R N HaD! B Brell 1 a1 T | 58 G HHR & 216
BIc 91 & vu 4 ore f&ar man | fobd- 9+ & gl g8 T gu i 2

Options:

4058595175. 36

I
i

4058595176.

| R}
=

4058595177.

4058595178. 0

Question Number : 83 Question Id : 4058591642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following terms given in options will replace the question mark in
the following series?

AZ26, DV88, GS133, JQ170, ?
Options :

4058595179, MQ 201



4058595180, NQ 204
4058595181. MP 197

4058595182, MP 208

Question Number : 83 Question Id : 4058591642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
fFrafeiaa Jad o uy g & ol I yed MHafifed ual 4 3 &H
AT B 2

AZ26, DV88, G5133, JQ170,?

Options:

4058595179, MQ 201

4058595180, NQ 204

4058595181, MP 197

4058595182, MP 208

Question Number : 84 Question Id : 4058591643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Seven friends N. T. P. R. Q. G and H are sitting in a row facing towards north but
not necessarily in the same order. There are only two friends between T and R. G is
sitting seocnd to the left of N and R 1s sitting third to the right of T. H is sitting
third to right of P. Who 1s sitting immediate left of R?

Options :



4058595183. T
4058595184. H

4058595185. P

4058595186. Q

Question Number : 84 Question Id : 4058591643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

IR G T 3R HHYE AT AN, T.P.R, Q. G IRH IS Ul H 5 8. |
Ug I ® Aol g [P dUb ol PHH S §U G| T SIR R & HYA dhad &l [0 §
| N & Sl 3R G8 ®IH | G 961 8 3R T. & Gl 3R iR ®IM IR R 961 §
| P& SR SR ARR W R H 381 ¢ | R & Hdvead Il SR SH 9818 2

Options :

4058595183. T
4058595184. H

4058595185. P

4058595186, Q

Question Number : 85 Question Id : 4058591644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Bharti 1s 8 ranks ahead of Divya who ranks twenty sixth in a class of 42, What 13
Bharti's rank from the last?



Options :

4058595187, 9

4058595188, 241

4058595189, 25t

4058595190, 34

Question Number : 85 Question Id : 4058591644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

N T B PTH R 26 T A R E IUTYRA o T s WH M g | 3id ¥
YR S ™R E 2

Options :

4058595187. 9 d

4058595188, 24 d

4058595189, 25 d

4058595190, 34 d

Question Number : 86 Question Id : 4058591645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



P.Q.R.S.T. Uand V are sitting around a circular table facing the centre S 1s not
neighbour of R and T. P is the neighbour of Q and R. V., Who is second to the left
of S. 1s the neighbour of T and U. Which of the following 1s not true?

Options :

4058595191, R 1s to the immediate right of P
4058595192, U 1s between T and S
4058595193, S 1s between Q and U

4058595194, Q 1s third left of T

Question Number : 86 Question Id : 4058591645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

[ dl GUIBR 09 R b5 &1 3R AIEEIFR P,.Q.R.S.T. UNR VIS UG
| S.RARTPIUSHI AT 1 . Q AR R PITUSII B | V. Sl fob s & &l 3R
TR VYFARE. T/TARUPITSH ¢ | FeffEa I I 90 T g 2

Options :

4058595191 R. P h FiavedH gl 3R T |

4058595192, TSRS AL U 7 |

4058595193, Q IRU P AAS § |

4058595194, T & S IR AM WHWRQE |

Question Number : 87 Question Id : 4058591646 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What will be the difference between the sum of the odd digits and sum of the even
digits in the number 8574237

Options :

4058595195. 0

4058595196. 1

| )

4058595197.

4058595198. 3

Question Number : 87 Question Id : 4058591646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
e 857423 B T 31 & AT SR fAH 3! & T & &g [ SRR 8 2
Options :

4058595195. 0

4058595196. 1

| )

4058595197.

4058595198. 3

Question Number : 88 Question Id : 4058591647 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Find the next term in the series

BMO. EOQ. HQS. 2
Options:

4058595199. SOV
4058595200. K5U
4058595201. SOW

4058595202. LMN

Question Number : 88 Question Id : 4058591647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
BMO. EOQ. HQS. ?

Options :

4058595199. SOV

4058595200. K5U

4058595201. SOW

4058595202. LMN

Question Number : 89 Question Id : 4058591648 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by four conclusions L IL, IIT and IV. Take the given
statements to be true even if they seem to be at variance with commonly known
facts and decide which of the given conclusions logically follow from the given
statements.

Statement :

All animals are vegetables.

All fishes are vegetables.

All birds are fishes.

Conclusions :

I. Some birds are animals.

II. Some vegetables are fishes.
ITI. Some vegetables are animals.

IV. All birds are vegetables.
Options :

4058595203, Only L. II and III follow

4058595204, Only I, III and IV follow

4058595205, Only II and IIT follow

4058595206, Only IL III and I'V follow

Question Number : 89 Question Id : 4058591648 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



oI HYAl & Uy IR FSpy 111 11 SR IV U U § | 76U U o1 &1 Hal
T Ydl g1 3 9iEgaaT 31d 9t 9§ e udid gid st oik fRvlg o fa feu e
U G B E oy afbs $U 4 Fead § |

B -

Tt Ux oA |
it T d T Tid § |
it gaft Aol § |
feepy .

1L PO UL U |

IL. $F I 7S g |
111, S G/ U S |
Iv. 94t gaft Tl § |

Options :

4058595203, $ad 1L 11 3R 111 Fead o

4058595204, 974d I, III AR IV H&Had g |

4058595205, Pad I1 3R 11 F&ad 5 |

4058595206, $ad I1, I R 1V AFad g |

Question Number : 90 Question Id : 4058591649 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If ¥ mean +~, —means %, -~ means + and + means — then (3 -15+19)x 8§ +6=7
Options :

4058595207. — 1



| R

4058595208.
4058595209. 4

4058595210. &

Question Number : 90 Question Id : 4058591649 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

g <« FTAd —BT o < - FT3f+ qUI+ BT - B AW (3-15-19)x 8+6

%

Options :

4058595207. — 1

| R}

4058595208.

4058595209. 4

4058595210. 8§

Question Number : 91 Question Id : 4058591650 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In an mmaginary language, the digits 0. 1, 2, 3,4, 5. 6, 7, 8 and 9 are substituted by
a.b.c.d.e. f. g. h 1and;j. And 10 is written as ba

Then

de x f —(bf—d) = d 1s equal to ?



Options :

4058595211, abb
4058595212. abe
4058595213. bee

4058595214, bef

Question Number : 91 Question Id : 4058591650 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U DIcdi-1p U H, 3Pl 0.1.2.3.4.5.6.7.8qU9Dla. b.c.d.e. f g h.i
T § ¥ AfaRfud foean 741 9T 10 B ba ORI T B 1 1

de xf —(bf—d) x ARG B ?

Options:

4058595211, abb

4058595212. abe

4058595213. bee

4058595214, bet

Question Number : 92 Question Id : 4058591651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Three of the following four are a like i a certain way on the basis of the
arrangement given below. hence form a group.

P2R%3JF#9T*2I6HB8ASSGK7D#4

Which one does not belong to the group?
Options :

4058595215. RP3
4058595216. KG7
4058595217. 9F *

4058595218, 8H 5

Question Number : 92 Question Id : 4058591651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

[afeiad IR o 9 o i < Tl sgaRil & YR IR U H1Yd ki § s
T §. 3ch: U 9Hg B 391 B4 ©

P2R%3JF#9T*2I6HB8ASSGKTD#4
I 95 4 gEfa T 8
Options :

4058595215. RP3
4058595216, KG7
4058595217. 9F *

4058595218. 8H 5



Question Number : 93 Question Id : 4058591652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

If each symbol is first converted into numeral and then all the numerals are
converted into English letters in the following arrangement.

FOG@TNS2TYSoG#Q8M*9Z%BA4

Then how many converted English letters will be there in the above arrangement
of elements?

Options :
4058595219. 12

4058595220. 13

4058595221. 7

| R}
=,

4058595222.

Question Number : 93 Question Id : 4058591652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

ofe Ugd T g @l Seid] § deal ol 3R [ Fafaiad oogen § 9ait
G| P 36l & Uil § I el og

F6G@TNS2TYSOG#Q8M*9Z%BA4
dl dadl & Iuad ogawd H 3-8 ¥ fdha- 9gal gU Sl & qul gl

Options :

4058595219. 12

4058595220. 13



4058595221, 7

4058595222, 24

Question Number : 94 Question Id : 4058591653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Friday was a holiday for Republic day. 13 of the next month is again a holiday

for some festival. What day was it on 13tho

Options :

4058595223, Sunday

4058595224, Monday

4058595225, Tuesday

4058595226, Wednesday

Question Number : 94 Question Id : 4058591653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U S0y 8 LhAR DI GBI U1 | 3FTd HeH 13 d fa fbdl Soa & oy
U: 3N 8 | 139 fgApHarfaa uro

Options:

4058595223, IGAR

4058595224, THAR



4058595225, HITTdR

4058595226, SUAR

Question Number : 95 Question Id : 4058591654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A man starts from point A and travelled 20 km toward North and then 12 km
towards west to reach point B. He took a Southward turn and went 5 km to reach
poimt C. Again he turned Eastward and went 10 km. to reach poimnt D. Lastly he
travelled 15 km turning to his right. What is the distance and in which directon 1s
he from his starting point?

Options :

4058595227, 15 km, West

4058595228, 2 km. South

4058595229, 12 km. South

4058595230, 2 km. West

Question Number : 95 Question Id : 4058591654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



U caiad [675 A Y O SR™Y HRdl § 3R (675 B 0P Ygd- & AU SR @l
3R 20 foT O FRal § SR TR ufEy &f &R 12 fd! g o=ar g1 98 aem
P 3R g3 3R 65 ¢ TP g9 & (ot 5 foet 71| iy 75 Od b SR g
3R f§=g D d@ uga- & AU 10 et mam) 3id 4, 39 3o gl SR g0 R
g%ﬁwﬁma&ﬁw%mﬁwﬁg%m%ﬁgawﬁmmﬁ

Options :

4058595227, 15 T Hl, TiEH

4058595228, 2 [ HT, SI&OT

4058595229, 12 T, Sfam

:
:

4058595230.

Question Number : 96 Question Id : 4058591655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A man starts walking in the North direction. Which of the following options will
bring lhum going Southward?

Options :

4058595231, Three consecutive left turns

4058595232, One left turn and then another right turn

4058595233, Two consecutive right turns

4058595234, One right turn and then another left turn



Question Number : 96 Question Id : 4058591655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

U odfdd IoR fa= &1 3R =e1 o SRl © | A i a1 $1H-91 fdb e
Y &1 DT 3R Th ST 2

Options :

4058595231, 17 XA &T¢ gHTG

4058595232, UP SN YHIG dUl Ud S0 a1l YHId

4058595233, &l IMXaR &4 A

4058595234, 8P I gHIG dUl Ud S0 &1 YHId

Question Number : 97 Question Id : 4058591656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In the question given below. there are two statements labelled as Assertion (A) and
Reason (R).

Assertion (A) : Bats can fly in the might.
Reason (R) : Bats emit ultrasonics.

Make your answer as per the codes provided below:
Options:

4058595235, Both (A) and (R) are true and (R) 1s the correct explanation of (A)

4058595236, Both (A) and (R) are true but (R) is not the correct explanation of (A)



4058595237, (A) 1s true but (R) 1s false

4058595238. (A) 1s false but (R) 1s true

Question Number : 97 Question Id : 4058591656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

i fEu U Uy . 3y (A) IR SRUN(R) 919 9 & Y QU TUE |

HHYF (A) : THNES T H IS IFd ¢ |

BRI (R) : TGS WRIETHSH] ST H3d o
e feU U el & SER, 391 IR f=igd S :

Options:

4058595235, (A) 3R (R) &FI el B, TUT (R). (A) PT Hl PP T |

4058595236, (A) 3R (R) &1 Tal B, Fobeg (R). (A) BT T51 TFIHRUI 61 ¢ |

4058595237, (A) A 8. g (R) 3T |

4058505238, (A) AR, fbg (R) AT |

Question Number : 98 Question Id : 4058591657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



A statement 1s followed by three assumptions numbered (I). (II) and (III). Consider
the statement and the following assumptions and decide which of the assumptions
1s implicit i the statement.

Statement : The potential of any individual can be developed with the help of co-
operative social relationship in our society.

Assumptions :
(I) In any society, we can establish and system the cooperative environment.
(IT) There 1s an aspiration of prosperity in every society.

(ITI) Every person wants to develop his/her potential

Options :

4058595239, Both (I) and (II) are implicit

4058595240, All (I). (II) and (III) are implicit

4058595241, Both (II) and (III) are implicit

4058595242, Both (I) and (III) and implicit

Question Number : 98 Question Id : 4058591657 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U@ HUF & YTd dIF JREAN (1), (1) 3R (1) 1 T8 § | Sy 3R 3
Aars R [daR ST $iR o 33 i 19 9l grgdr sy § sidHed © |

YA ; Tl i I &Hd o1 [dB ™ 39 TH6 H YebRI TrEiie Sael &I
T o aadr g |

HI-dTl -

(1) fordt oft oo § 50 gear! uldw &) wifid iR 9uifid s 9d § |
(1) TS TS § 99fE BT SMaien sl © |

(I1T) Y G/ ARl 31 &I 1 [ =1 918l &/ 918! o



Options :

4058595239, Al HIIAIY (1) R (11) 3{dFHRd &

4058595240, TH! TFGATY (1), (1) 3R (111) SidHea & |

4058595241, &I FIATY(IT) 3R (111) SHdHled & |

4058595242, &I HIRIATE (1) 3R (111 SHded |

Question Number : 99 Question Id : 4058591658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a family there are seven members A, B, C, D, E. F and G. A 1s married to B. C is
the brother of A. D 1s the only son of C. Who 1s the father of E. B 1s the daughter-
in-law of F. G 1s father of C.

How many female members are there in the fanuly?

Options :

| R}

4058595243.

4058595244, 4

4058595245. 1

4058595246. 3

Question Number : 99 Question Id : 4058591658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

U URGR J A 9y A.B.C.D.E.F3RGE | ABI[GAEBUE3N T | C.A
BIUE S ID.CHIUPHAGA S SIE S Udl g | B.F B YAAY E | G.C & UaT g
|

URaR ool Aige 9ew g 2

Options :

| R

4058595243.

4058595244, 4

4058595245. 1

4058595246. 3

Question Number : 100 Question Id : 4058591659 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In the following letter series. Some of the letters are missing which are given in
that order as one of the alternatives below it. Choose the correct alternative

abedda ced bee._ab
Options :

4058595247. abcda
4058595248. cdbeca

4058595249. cbacd

4058595250. beacd



Question Number : 100 Question Id : 4058591659 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

AR Si&R Jga §, $ &R I ¢ ol 39 A4 faU T fasedl & I
o1 H f3U Y 8| el [daed &1 9g HifeT |

abc dda ccd bece _ab

Options :

4058595247.abcda
4058595248.cdbca
4058595249. cbacd

4058595250. beacd

Question Number : 101 Question Id : 4058591660 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

If in a certain code language TNDIA WON GOLD MEDAL' 1s written as "JKRIG
YBK VBPR NARGP' then how will you write 'LAID DOWN' 1n the same code

language?
Options:
4058595251. PG TR RBYP
4058595252. PG IR BRANYN

4058595253. PG TR RBYK

4058595254. PG TR RAYK



Question Number : 101 Question Id : 4058591660 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ufe U Hi%d g 4T H INDIA WON GOLD MEDAL' @1 'JKRIG YBK VBPR
NARGP' feRg Tl &, df 341 YIS H 37 'LAID DOWN' P fdd YR ferd™ 2

Options:

4058595251. PG TR RBYDP
4058595252. PG TR RAYN
4058595253. PG TR RBYIK

4058595254. PG TR RAYK

Question Number : 102 Question Id : 4058591661 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a certam code 'SHE LOVES WINTER' 1s written as '2a 3b 4¢' "WINTER IS
COLD' written as s "2a 7b 8¢' and 'SHE IS BEAUTIFUL' is written as 'Sa 4¢ 8¢
then how 1s BEAUTIFUL' coded in the same language

Options :
4058595255. 8¢
4058595256. 3a

4058595257 4¢

4058595258. 3b



Question Number : 102 Question Id : 4058591661 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U% [H%d $c YN H, 'SHE LOVES WINTER' I 2a 3b 4¢' foRa ST §
'WINTER IS COLD' 1 2a 7b 8¢’ f&Ral SITdT § U 'SHE IS BEAUTIFUL' @1 '5a
4¢ 8¢' ToTRET SITGT 8 Al 3! HTST H 'BEAUTIFUL' &1 Pe-RIeg ol I 2

Options:

4058595255. 8c
4058595256. 5a
4058595257. 4¢

4058595258. 3b

Question Number : 103 Question Id : 4058591662 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The six faces of a cube are coloured Black. Brown. Green. Red. White and Blue,
such that Red 1s opposite black. Green 1s between Red and Black. blue 1s adjacent
to White, Brown is adjacent to Blue and Red is at the bottom. From the following
which are three adjacent colors?

Options :
4058595259, Black. blue. Red

4058595260, Black. Brown. White

4058595261. Black. Blue. White



4058595262, Browi. Red. White

Question Number : 103 Question Id : 4058591662 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

UH U & &: Bl DI PIail, YR, T, I, e adl -id I7 Y 59 YhR 31

T § fob e, el & fATid &, §R1 T PIe qUT e P He g, e, e b

gaﬂ%.vﬁr:ﬂﬁqgéiw%mﬂwﬁ% | 57 9 P9 19 1 Fdpead!
|

Options :

4058595259, PICI. -TIeTl. TTe

4058595260, P 3. THe

4058595261, PICIL Il ¥ HG

4058595262, HX. @I, UG

Question Number : 104 Question Id : 4058591663 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following number series

310,102
Options :

4058595263. 10101

4058595264, 10201



4058595265. 10202

4058595266. 10102

Question Number : 104 Question Id : 4058591663 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

[rafRad S Jadr § qw ue J1d i |

3,10, 101,72

Options :

4058595263. 10101

4058595264. 10201

4058595265. 10202

4058595266. 10102

Question Number : 105 Question Id : 4058591664 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following numbers series
240,27, 120, 40, 10, 2,...
Options :

4058595267. 180



4058595268. 160
4058595269. 200

4058595270. 240

Question Number : 105 Question Id : 4058591664 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

frafeiad g Y@ o qw ug 3iTd Hifofu -

240, 7,120, 40, 10, 2

Options :

4058595267. 180
4058595268. 160
4058595269. 200

4058595270. 240

General Knowledge and Current Affairs

SectionId: 405859102
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15

Number of Questions to be attempted : 15



Section Marks : 15

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 405859106
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 106 Question Id : 4058591665 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Match List I with List IT with reference to Nobel Prize 2023

LIST I (Winner) LIST II (Area)
A |Jon Fosse 1. |Physics
B. |WNarges Mohammadi II. |Physiology
C. |Piere Agastini, Feren Krausz and Anne L Huiller| ITI. | Literature
D. |Katalin Kariko IV |Peace

Choose the correct answer from the options given below:

Options :

4058595271, A-I. B-IIL. C-II, D-IV

4058595272, A-III. B-I. C-IV. D-II

4058595273, A-III. B-IV, C-I, D-II

4058595274, A-III. B-IV, C-II. D-I

Question Number : 106 Question Id : 4058591665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

90 RWPR 2023 & g T I 11 A it 11 9 BT -

T 1 I I &)
A [SF®E L |Yifa@merd
B. (70 Algwe! 1. |TRR foran fagme
C. |Tto SRTIH, Bhed T IR U4 Ud ggeR| 1L |gfed
D. |&ele & IV, |=rifa
+d feu U fa el § U Tol U &I I9g- Hifulg:

Options:

4058595271, A-I. B-IIL, C-II, D-IV

4058595272, A-III. B-I. C-IV. D-II

4058595273, A-III. B-IV. C-1. D-II

4058595274, A-ITL. B-IV, C-IL D-I

Question Number : 107 Question Id : 4058591666 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Statement-A : The G 20 was founded in 1999 after the Asian Financial erisis as a
forum for the finance ministers and Central Bank Governors to discuss global
economic and financial 1ssues.

Statement-B : It 1s held biannually. under the leadership of a rotating presidency.

Choose the correct answer from the options given below :
Options :

4058595275, Statements A and B are correct.

4058595276. Statements A and B both are incorrect.



4058595277, Statement A is correct, B 1s incorrect.

4058595278, Statement A is incorrect, B 1s correct.

Question Number : 107 Question Id : 4058591666 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

PYUF-A : G 20 B ™ITYAT 1999 H URGH o<y Jabe & d1g faa G4l ud Jed
3% 11 B % 31fife Ud fa<iia ol R fadaa a3 & fau te d9
el B3 o (o g% ot |

HU.B : T8 &1 98 H Uch §R H1al e & 19 H 8l |
e feu U fdw el § 9 el SR &1 99+ i -

Options :

4058595275, PUTATUIB HeI © |

4058595276, PUTATUTB SHI Tad © |

4058595277, PUTATEI 8. BI@A © |

4058595278, PUTATAAS. B HEI© |

Question Number : 108 Question Id : 4058591667 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Who invented the world's first printing press which enabled the mass production of

books?



Options :

4058595279. Matthew Web
4058595280. Maurice Garin

4058595281 . Johannes Gutenberg

4058595282, Al Jolzon

Question Number : 108 Question Id : 4058591667 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

oy o1 ggdl fiifén U @1 anfaseR foraq o forad fadel &1 5! 9= &
JdIe- 944 Bl &
Options :

4058595279, 44,9

4058595280. BINY TITH

4058595281. SISEERIGSE |

4058595282, Ut wiled-

Question Number : 109 Question Id : 4058591668 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Statement A : In 1236. Sultan Iltutmish's daughter, Raziyya, became Sultan.

Statement B : The chronicler of the age Minhaj-i-Siraj and other Nobles were
happy at her attempts to rule independently. She ruled for atleast two decades.

Choose the correct answer from the options given below:
Options :

4058595283, Statements A and B are correct.
4058595284. Statements A and B are in correct.

4058595285, Statements A is correct: B is in correct.

4058595286, Statements A in correct: B is correct.

Question Number : 109 Question Id : 4058591668 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

BYUA A+ 1236, H Yool Seqdia=] i 9] Ior YeaH a9 Tg |

HY B : 39 T & SIASNIBR [HAES-5-RRTS 3R 39 YNE a1l 39P Waid
=9 Y UE R o FARI Y U U1 50T A $H Y $H o 5P aP IRHA
fepa|

JWRITT DY & AHdlP H, i 14U 70 fdbedi & U Tl I &I 99 BIog:

Options :

4058595283, BUTA IR B EFT TEI § |

4058595284, PUT A AR BEHI Tad & |

4058595285, PUT ATEI §. PUTBIEA G |

4058595286, PUT AT S. B HEI© |



Question Number : 110 Question Id : 4058591669 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who 1s the author of the book. "The Social contract”?
Options :

4058595287. Socrates
4058595288. Fousseau
4058595289. Aristotle

4058595290. Plato

Question Number : 110 Question Id : 4058591669 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
& € AIRd Plcae B aEd DI 62
Options :

4058595287, FPC

4058595288, =4I

4058595289, “IX,

4058595290, WIC



Question Number : 111 Question Id : 4058591670 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Gulf of Mannar, Dibru Saikhowa and Pachmadhi are the examples of :

Options :

4058595291, Bioreserves

4058595292, Botanical gardens

4058595293, Wildlife reserves

4058595294, Thorn forests

Question Number : 111 Question Id : 4058591670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
AR & @rol, (S5 ¥aial 3R Ygne! FHifed & 33 s -

Options :

4058595291, ©id HRI&fd

4058595292, TTId M

4058595293, d-d0ld SARFET (SMTRUY)

4058595294, PICGR T



Question Number : 112 Question Id : 4058591671 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following locally called as Susu are found in the fresh waters of
River Ganga and River Brahmaputra and are an indication of the health of the
river.

Options :

4058595295, Whales

4058595296, Blind Dolphins

4058595297. Turtles

4058595298, Mangrooves

Question Number : 112 Question Id : 4058591671 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
fraiferd & 9 o for R SR 1R Y 81 Sl § 7Tl & drell S 3R
SETQA a1 H U S B 3R g dl & W B Feus gl B

Options :

4058595295, @

4058595206, SN1SS Slfep (3] Slfeth)

4058595297, PGS

4058595298, &5 g1l



Question Number : 113 Question Id : 4058591672 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Match Column I with Column II.

Column I Column II
A |Inner Himalayas I. |Indus and Satly

b. |Lesser Himalayas II. |Satlyy and Kali
¢. |Punjab Himalayas |III |Himadr

d. | Kumaon Himalayas| IV |Himachal

Choose the correct answer from the options given below:
Options:

4058595299, A-I. B-III. C-II. D-IV
4058595300, A-IIL B-II. C-IV. D-I
4058595301, A-IL. B-III. C-1. D-IV

4058595302, A-IIL B-IV. C-I. D-II

Question Number : 113 Question Id : 4058591672 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4058595299, A-I. B-III. C-II. D-IV
4058595300, A-IIL B-II. C-IV, D-I
4058595301, A-IL. B-III. C-I. D-IV

4058595302, A-IIL B-IV. C-I. D-II

Question Number : 114 Question Id : 4058591673 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following equation correctly represents speed?
Options :

, Time
Speed =———
4058595303. Distance

4058595304, Speed = Distance » Time

: Distance
Speed=———
4058595305. Time

1

Distance » Time

4058595306, PS4 =

Question Number : 114 Question Id : 4058591673 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



fFgiferd & 9 19 91 gHi@R 0 7fd ©F FReud Sdr g2

Options :

iy = 309

4058595303. @

4058595304, TTHt=GX1 » HY

PO L

4058595305. qHq9

1
- .
4058595306. 3l x @

Question Number : 115 Question Id : 4058591674 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Match the items given in Column I with those in Column II.

Column I Column II

Unizexual flowers| I |Unisexual plants

Bisexual flowers | II. |Bisexual plants

Corn and Papaya | IIl. |Contain only pistil or stamens

ofa[w]»

Mustard and rose | IV. [Contain both pistil and stamens

Choose the correct answer from the options given below:
Options:
4058595307, A-IIL. B-IV. C-II. D-I

4058595308, A-IV. B-III. C-I. D-II

4058595309, A-III. B-IV. C-I. D-II



4058595310, A-IV. B-III. C-II. D-I

Question Number : 115 Question Id : 4058591674 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

BT 1 AR Pl 11 B1 HRIT BIfoTT

HIAH I HIaH 11
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B. [Svaferiigsy | I [Svafe orey
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Options :

4058595307, A-IIL B-IV. C-II. D-I

4058595308, A-IV. B-III. C-I. D-II

4058595309, A-IIL B-IV. C-I. D-II

4058595310, A-IV. B-III. C-II. D-I

Question Number : 116 Question Id : 4058591675 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What is the movement of air form high pressure area to low pressure area called?

Options :



4058595311. Wind

4058595312, Cyclone

4058595313, Hurricane

4058595314, Torpedo

Question Number : 116 Question Id : 4058591675 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

I 19 &4 9 79 319 &3 B 3R 91g & 91d &I I Hel ol § 2

Options :

4058595311, &4l

4058595312, 1 Efﬁi

4058595313, € X

4058595314, TRIUST

Question Number : 117 Question Id : 4058591676 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Who 1s the leader of the ruling party in the Lok Sabha in India?

Options :



4058595315, President

4058595316, Speaker of the Lok Sabha

4058595317. Prime Minister

4058595318. Chief Minister of the State

Question Number : 117 Question Id : 4058591676 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

YR ] GIHTHT & GO1URE S0 &1 3dl & sidl 87
Options :

4058595315. 4

4058595316, GIETHT BT Wl

4058595317, WA

4058595318, X1 T A

Question Number : 118 Question Id : 4058591677 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is NOT one of the systems of Indian Philosophy?

Options :



4058595319, Vaisheshika

4058595320, Nyaya

4058595321, Yoga

4058595322, Upnishads

Question Number : 118 Question Id : 4058591677 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
frafefed 5 O o yRdg g9 &t te a@ Tei g ?

Options :

4058595319. CRIIRIE

4058595320. U™

4058595321, T

4058595322, 3U-YG

Question Number : 119 Question Id : 4058591678 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which language did Buddha teach?
Options :

4058595323, Pali



4058595324, Prakrit
4058595325, Sanskrit

4058595326. Brahmi

Question Number : 119 Question Id : 4058591678 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

9 A g e 1 180 ugH &1 2

Options :

4058595323, Il

4058595324, A1P<

4058595325, TXP<

4058595326, SITEH

Question Number : 120 Question Id : 4058591679 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which Fundamental Right will be violated if a 13-year old child 1s working in a
tactory manufacturing carpets?

Options :

4058595327 Right to Equality



4058595328, Right to Freedom

4058595329, Right against Exploitation

4058595330, Right to Freedom of Religion

Question Number : 120 Question Id : 4058591679 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

¢ BT & [l BREF T 13 aY BI13H1Y B Plg &= BIH Pl 8, Ul
Rufa o Fafaied O 9 oy gifcie ffUeR &1 Jeadd i

Options:

4058595327, HHId P HUPR

4058595328, TaAdl &l HTHR

4058595329, JITHUI & (495 JHIUFR

4058595330. UM ® TadAar &1 IfUHR



